202488~ 25 HAIRIEI

NERHR

X8A2 1B R COFETY  BRICIDRENZENET,Z IHESESL,

B\EE
i 1-2-952 B R &
IN=VFIN29FT«
M~3 BHERDT+ A2 \CRRF IR ET, ESERE= (&) 15:20~16:20
EECEHOBRR NN SERTEST.,
N4 L2 E& = () 15:30~1T:40
2 REIEE (@-8) (550 1 RBTEa)
N5 L2 Btt® = (K)16:30~18:10
SHIEIRES (B 8- 3 1830 82 = (@)1630~%10
N6 D2 BEftE = (N)16:30~18:10
SHIEIEE (E- 8 11820 B2 = (R6:30~18:10
i 252 B B
BRIS2 Bt = (N)20:.05~21:40
P EE = (K)20:10~21:40
5B 1EE (B3 12 3 % = (£)20:10~21:40
BRDIS22 1Bt = (N)20:05~2140
P2 ¥ = (K)20:10~21:40
5RIBIEE (-8 -1t 12- 3 EE = (1)20:10~2140
BRIS2 Bt = (N)18:15~20:00
3 EE = (K)18:20~20:00
5RIBIEE (B -8 -1t 12- 3 ¥ = (1) 18:20~20:00

n

SHBBRE

STLULRHE

00

W

4

0 0

SHLR% - BHVSDHEE )

HEOR—V1
(011)707'555 csg;:'a:>

ol




